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There are six members M, Q, R, S, T and V in a family which consists of three generations. Q is the 
daughter-inlaw of M.R is the only son of S, whose mother has a sibling. M has more than one son. T is a 
female member. S is not the uncle of R.
तीन पीढ़ियों वाले एक परिवाि में छह सदस्य M, Q, R, S, T औि V हैं। Q, M की बहू है। R, S का इकलौता पुत्र 
है, जिसकी मााँ का एक भाई है। M के एक से अधिक पुत्र हैं। T एक मढहला सदस्य है। S, R का अककल नह क है।

How is T related to S? a. Sister b. Daughter c. Aunt d. 
Sister-in-law e. None of the above  

How is V related to R? a. Sister b. Uncle c. Grandfather d. 
Can’t be determined e. None of the above

How R related to V? a. Sister b. Uncle c. Nephew d. Son e. 
None of the above 
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Eight member, P, Q, R, S, T, U, V and W belong to a family consists of four generations. No single person in 
the family is a parent. W’s father’s only sister’s father’s mother is Q. S is the only daughter-in-law of P, who is 
married to Q. R is the father of U. T is the only sister-in-law of V. T is unmarried. Gender of W and U is same.
आठ सदस्य, P, Q, R, S, T, U, V औि W एक परिवाि से सकबकधित हैं जिसमें चाि पीढ़ियााँ हैं। परिवाि में कोई भी 
व्यजतत माता-पपता नह क है। W के पपता की इकलौती बहन के पपता की माता Q है। S, P की इकलौती बहू है, िो 
Q से पववाढहत है। R, U का पपता है। T, V की एकमात्र भाभी है। T अपववाढहत है। W औि U का ललकग स समान है।

How is Q related to T? a. Mother b. Grand mother c. Father 
d. Brother e. None of these 

Which of the following statement is true regarding R? a. R 
is father of P b. R is brother of U c. R is sister of S d. R is 
father of T e. None is true.

Who is the grandfather of U? a. Q b. R c. P d. S e. None of 
these 
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There are seven persons K, M, N, R, S, T and V in a family, which has three generations. T is 
the daughter-in-law of K. R is the father of M. K is the son-in-law of sister of N. Gender of N 
and V is same. S is a female. एक परिवाि में सात व्यक्तत K, M, N, R, S, T औि V हैं, क्िनकी 
तीन पीढ़ियााँ हैं। T, K की बहू है। R, M का पपता है। K, N की बहन का दामाद है। N औि V का 
ललिंग समान है। स एक मढहला है।

How is R related to V? a. Father-in-law b. 
Brother c. Father d. Grand father e. None of the 
above 

How is S related to M? a. Sister b. Mother c. 
Mother-in-law d. Daughter e. None of the above 

How N related to K? a. Paternal Uncle b. Maternal 
Aunt c. Maternal Uncle d. Paternal Aunt e. None 
of these
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There are seven members A, B, C, D, E, F and G in a family, which consists of three generations. B 
is the husband of D’s sister. G is the nephew of D. C is the granddaughter of E and sister of G. F is 
the wife of E and has more than one child. 
एक परिवाि में सात सदस्य ए, बी, सी, डी, ई, एफ औि िी हैं, जिसमें तीन पीढ़ियाक हैं। B, D की 
बहन का पतत है। G, D का भतीिा है। C, E की पोती है औि G की बहन है। F, E की पत्नी है औि 
उसके एक से अधिक बच्चे हैं।

How is A related to E? a. Sister b. Can’t be 
determined c. Daughter d. Daughter in law e. Mother

How is D related to C, if E has only one daughter? a. 
Aunt b. Paternal Uncle c. Mother in law d. Maternal 
Uncle e. Can’ be determined

How G related to E? a. Sister b. Grandson c. Daughter 
d. Daughter in law e. Mother
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Eight members in a family - Sudha, Ravi, Shardul, Sakshi, 
Teju, Ramu, Deepak and Ramya went to Shimla to beat 
their summer heat. Family consists of 2 couples. Ramu has 
four children. Out of them, only one is married. The 
married son of Ramu has a daughter named Sakshi. Sudha 
is grandmother of Sakshi. Sakshi’s mother is the wife of 
Shardul who has an only sister named Ramya. Ravi is the 
younger brother of Shardul, who is not eldest. Teju is the 
wife of the brother of Ravi. Ramu is a male.
एक परिवाि में आठ सदस्य - सुिा, िपव, शादुुल, साक्षी, 
तेिू, िामू, द पक औि िम्या अपनी ग समी को मात देने के 
ललए लशमला ग सए थे। परिवाि में 2 िोड ेहैं। िामू के चाि 
बच्चे हैं। इनमें से केवल एक की ह  शाद  हुई है। िामू के 
पववाढहत पुत्र की एक पुत्री है जिसका नाम साक्षी है। सुिा 
साक्षी की दाद  हैं। साक्षी की मााँ शादुुल की पत्नी है जिसकी 
एक ह  बहन है जिसका नाम िाम्या है। िपव शादुुल का 
छोटा भाई है, िो सबसे बडा नह क है। तेिू िपव के भाई की 
पत्नी है। िामू नि है।
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How Sakshi is related to Ravi? a. Sister b. 
Daughter c. Sister in law d. Niece e. Wife

Who is Teju in this family? a. Ravi’s sister b. 
Sudha’s Mother in law c. Deepak’s wife d. 
Shardul’s daughter e. Ravi’s sister in law

Who is the elder brother of Shardul? a. Ramu b. 
Ravi c. Deepak d. Cannot be determined e. None 
of the above 

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

There are six members A, B, C, D, E and F in a family which consists 
of only one married couple and three generations. Each member 
has different number of coins among 4, 8, 11, 13, 16 and 19. Person 
with 4 coins is the paternal uncle of D. The only sister of D has two 
coins more than the son of C. The sibling of the person with 13 
coins has one daughter. C is a female member. No female has 8 
coins. Person with 16 coins is elder than F, who has 19 coins such 
that both are not in same generation. Neither A nor E is married to 
C. E is younger than A such that both are not in same generation. 
एक परिवाि में छह सदस्य A, B, C, D, E औि F हैं, जिसमें केवल एक 
पववाढहत िोडा औि तीन पीढ़ियाक हैं। प्रत्येक सदस्य के पास 4, 8, 
11, 13, 16 औि 19 में लसतकों की अलग स-अलग स सकख्या है। 4
लसतकों वाला व्यजतत D का चाचा है। D की इकलौती बहन के पास C 
के पुत्र से दो लसतके अधिक हैं। 13 लसतकों वाले व्यजतत की एक 
बेट  है। C एक मढहला सदस्य है। ककसी भी मढहला के पास 8 लसतके 
नह क हैं। 16 लसतकों वाला व्यजतत F से बडा है, जिसके पास 19 
लसतके इस प्रकाि हैं कक दोनों एक ह  पी़ि  में नह क हैं। न तो A औि 
न ह  E, C से पववाढहत है। E, A से छोटा है, िैसे कक दोनों एक ह  
पी़ि  में नह क हैं।
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How is E related to F? a. Father b. Aunt c. Grand 
father d. Brother e. None of these.

Who among the following doesn’t have more 
than 13 coins? I. B II. A III. C a. Both I and II b. 
Only II c. Both II and III d. Only III e. Both I and III

The person with 16 coins is the ____ of person 
with lowest number of coins. a. Sister-in-law b. 
Sister c. Son d. Niece e. None of these.
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S#T – S is the son of T. 

S@T – T is the child of S. 

S$T – S is elder than T. 

S*T– S is the husband of T. 

S©T – S is the parent of T. 

S&T– T is the daughter-in-law of S. 

S%T– S is the wife of T. 

If C @ D * E & F % G $ H # D, then how H is related F? 

a) Brother 

b) Uncle 

c) Father in law 

d) Brother in law 

e) Cannot be determined 
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S#T – S is the son of T. 

S@T – T is the child of S. 

S$T – S is elder than T. 

S*T– S is the husband of T. 

S©T – S is the parent of T. 

S&T– T is the daughter-in-law of S. 

S%T– S is the wife of T. 

If S * M @R $ N # S, the age of M is 35 years and of N is 18 

years then what is the probable age of R? 

a) 17 years 

b) 19 years 

c) 20 years 

d) 08 year 

e) Both b and c 

http://www.mahendras.org/


FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

S#T – S is the son of T. 

S@T – T is the child of S. 

S$T – S is elder than T. 

S*T– S is the husband of T. 

S©T – S is the parent of T. 

S&T– T is the daughter-in-law of S. 

S%T– S is the wife of T. 

If W%F @ G * J & K % H, then how W is related to J? 

a) Father in law 

b) grandmother in law 

c) Daughter in law 

d) Mother in law 

e) Cannot be determined 
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S#T – S is the son of T. 

S@T – T is the child of S. 

S$T – S is elder than T. 

S*T– S is the husband of T. 

S©T – S is the parent of T. 

S&T– T is the daughter-in-law of S. 

S%T– S is the wife of T. 

If C % D © E * A © B and the age of C is 70 

years, then what could be the age of E? 

a) 77 years 

b) 75 years 

c) 40 years 

d) 80 years 

e) 72 years 
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S#T – S is the son of T. 

S@T – T is the child of S. 

S$T – S is elder than T. 

S*T– S is the husband of T. 

S©T – S is the parent of T. 

S&T– T is the daughter-in-law of S. 

S%T– S is the wife of T. 

If X * Y © Z $ U # M and X#R@M, then how X 

is related to U ? 

a) Grandfather 

b) Uncle 

c) Aunty 

d) Sister 

e) None of these 
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X@Y– X is the child of Y. 

X%Y– X is elder to Y 

X&Y– X is younger to Y 

X$Y– X is brother of Y 

X*Y– X is wife of Y 

X#Y– X is sister-in-law of Y 

X!Y- X is son in law of Y. 

X^Y-X is not the sibling of Y 

X*F$D&Q$F; E@X; F% D*C!B; W#D; 

A*K@W C^W 
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If the age of F is 45 years and age of Q is 40 years, so what can be the 

age of D? 

a) 44 years b) 43 years c) 47 years 

d) 39years e) None of these 

If G@D then how X is related to G? 

a) Uncle b) Grandmother c) sister-in-law 

d) Aunt e) None of these 

How C is related to F? 

a) Bother in law b) Sister in law c) Brother 

d) Uncle e) cannot be determined 
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A × B means B is mother of A 

A – B means B is brother of A 

A + B means B is sister of A 

A ÷ B means B is father of A 

If the expression M × N + R ÷ T is true, then which of the 

following is true? 

a) M is son of R 

b) N is aunt of T 

c) M is granddaughter of T 

d) T is father of N 

e) None of these 
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A × B means B is mother of A 

A – B means B is brother of A 

A + B means B is sister of A 

A ÷ B means B is father of A 

a) Y ÷ Q – T + R 

b) T ÷ Q – Y- R 

c) T × M – R + Q 

d) T + M ÷ Y + Q 

e) None of these 

Which of the following means ‘Q’ is brother of ‘T’? 
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A × B means B is mother of A 

A – B means B is brother of A 

A + B means B is sister of A 

A ÷ B means B is father of A 

If the expression M – Q – D ÷ F + C, then which 

of the following is true? 

a) C is daughter of F 

b) F is niece of C 

c) C is sister of F 

d) D is father of M 

e) None of these 
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